What is the van’t Hoff factor for the following

Sodium Chloride
Magnesium Bromide
Ammonia Nitrate
Barium Hyrdoxide
Sucrose

Ethanol
Aluminum Nitrate
Copper (II) Sulfate
[ron (III) Chloride
Potassium lodide
Cesium Sulfate

Potassium Cyanide



What is the van’t Hoff factor for the following

Sodium Chloride, NaCl, i=2
Magnesium Bromide, MgBr; i=3
Ammonia Nitrate, NH4sNO3 i=2
Barium Hyrdoxide, Ba(OH): i=3
Sucrose i=1

Ethanol i=1

Aluminum Nitrate AI(NO3)3 i=4
Copper (II) Sulfate Cu(SO04) i=2
Iron (III) Chloride FeClz i=4
Potassium lodide KI i=2
Cesium Sulfate Cs2(S04) i=3

Potassium Cyanide K(CN) i=2



